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20. Each time Jeni plays a computer game the probability that she will win is 2
3

 Jeni plays the computer game 3 times.

 Calculate the probability that Jeni will win 

 (a) all 3 games,

  .....................................
(2)

 (b) exactly 2 out of the 3 games.

  .....................................
 (3) Q20

(Total 5 marks)

1. [5 marks]

Note that these questions are sorted in date order (most recent questions first).

November 2009, 3H Q20:  5 Marks
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2. [5 marks]

Note that these questions are sorted in date order (most recent questions first).

November 2008, 3H Q15:  5 Marks
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15 Naveed has two bags of tiles, bag A and bag B.

 There are 10 tiles in bag A.
 7 of these tiles are red. 
 The other 3 tiles are white.

 There are 8 tiles in bag B.
 5 of these tiles are red.
 The other 3 tiles are white.

 Naveed takes at random one tile from each bag.

 (a) Work out the probability that the tiles are the same colour.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(3)

 All 18 tiles are put in a box.
 Naveed takes at random one tile from the box.
 He does not replace the tile.
 Naveed then takes at random a second tile from the box.

 (b) Work out the probability that both tiles are red.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(2)

(Total for Question 15 is 5 marks)

3. [5 marks]

Note that these questions are sorted in date order (most recent questions first).

June 2016, 4HR Q15:  5 Marks
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19. The diagram shows six counters. 

Each counter has a letter on it.

Bishen puts the six counters into a bag.
He takes a counter at random from the bag.
He records the letter which is on the counter and replaces the counter in the bag.
He then takes a second counter at random and records the letter which is on the counter.

(a) Calculate the probability that the first letter will be A and the second letter will be N.

..........................
(2)

(b) Calculate the probability that both letters will be the same.

..........................
(4)

Turn over

Q19

(Total 6 marks)
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4. [6 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2005, 3H Q19:  6 Marks
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20. A box contains 7 good apples and 3 bad apples. 

Nick takes two apples at random from the box, without replacement. 

(a) (i) Calculate the probability that both of Nick’s apples are bad.

..........................

(ii) Calculate the probability that at least one of Nick’s apples is good.

..........................
(4)

Another box contains 8 good oranges and 4 bad oranges.

Crystal keeps taking oranges at random from the box one at a time, without replacement,
until she gets a good orange. 

(b) Calculate the probability that she takes exactly three oranges.

..........................
(2)

TOTAL FOR PAPER: 100 MARKS

END

Q20

(Total 6 marks)

5. [6 marks]

Note that these questions are sorted in date order (most recent questions first).

November 2004, 3H Q20:  6 Marks
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16. The sides of a fair six-sided dice are numbered from 1 to 6
 The dice is thrown three times.
 Find the probability that it shows a 1 at least twice.

.............................

17. Solve the equations  y = 2x + 1
x2 + y2 = 13

........................................................................ Q17

(Total 6 marks)

Q16

(Total 4 marks)

6. [4 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2006, 4H Q16:  4 Marks
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7. [3 marks]

Note that these questions are sorted in date order (most recent questions first).

November 2006, 4H Q22:  3 Marks
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8. [8 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2007, 3H Q10:  8 Marks
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17 Here are seven counters.
 Each counter has a number on it.

                                                                          

 Ali puts the seven counters in a bag.
 He takes, at random, a counter from the bag and does not replace the counter.
 He then takes, at random, a second counter from the bag.

 Calculate the probability that

 (i) the number on the second counter is 2 more than the number on the first counter,

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

 (ii) the number on the second counter is 1 more than the number on the first counter.

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(Total for Question 17 is 5 marks)

1 2 4 4 5 55

9. [5 marks]

Note that these questions are sorted in date order (most recent questions first).

June 2011, 3H Q17:  5 Marks
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13 A box contains 20 nails.
 The table shows information about the length of each nail.

Length of nail (mm) 25 30 40 50 60

Number of nails 1 8 4 5 2

 (a) Viraj takes at random one nail from the box.

  Find the probability that the length of the nail he takes is

  (i) 50 mm or 60 mm,

... . . . . . . . . . . . . . . . . . . . . . . . . .

  (ii) less than 35 mm.

... . . . . . . . . . . . . . . . . . . . . . . . . .

(4)

 (b) Jamila puts all 20 nails into a bag.
  She takes at random one of the nails and records its length.
  She replaces the nail in the bag.
  She then takes at random a second nail from the bag and records its length.

  Calculate the probability that the two nails she takes

  (i) each have a length of 60 mm,

... . . . . . . . . . . . . . . . . . . . . . . . . .

  (ii) have a total length of 80 mm. 

.. . . . . . . . . . . . . . . . . . . . . . . . . . .

(5)

(Total for Question 13 is 9 marks)

10. [9 marks]

Note that these questions are sorted in date order (most recent questions first).

January 2014, 3H Q13:  9 Marks
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17 Two bags contain discs.

 Bag A contains 12 discs. 
 5 of the discs are red, 6 are blue and 1 is white.

 Bag B contains 25 discs.
 n of the discs are red and the rest are blue.  

 James takes at random a disc from Bag A.
 Lucy takes at random a disc from Bag B.

 Given that the probability that James and Lucy both take a red disc is 2
15

 (i) find the value of n, the number of red discs in Bag B.

n =  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

 (ii) Hence calculate the probability that James and Lucy take discs of different colours.

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(Total for Question 17 is 5 marks)

11. [5 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2015, 3HR Q17:  5 Marks
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20

Box X Box Y

 In Box X, there are 4 black discs and 1 white disc.
 In Box Y, there are 2 black discs and 2 white discs.

 Vikram takes at random a disc from Box X and puts it in Box Y.
 He then takes at random a disc from Box Y.

 (a) Calculate the probability that the disc he takes from Box X and the disc he takes 
from Box Y will both be black discs.

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 

(2)

 (b) Calculate the probability that the disc he takes from Box Y will be a white disc.

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 

(3)

(Total for Question 20 is 5 marks)

12. [5 marks]

Note that these questions are sorted in date order (most recent questions first).

January 2013, 4H Q20:  5 Marks
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13. [6 marks]

Note that these questions are sorted in date order (most recent questions first).

November 2006, 3H Q21:  6 Marks


